= AH O
N = 0 &8 AF S & Al A
20109 &= 204 LESIH SIS Y ~ 2SS
2N 23D
. 2ltessd 2 JE
o LUSHLY 2A XA (e dS)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
235t s 3,881,021 2,675,857 1,205, 164
= 525,000
z 260,000
p) 70,140
= 28,851
< 343,743
Al 2,653,287
Sslilssy ¥ AE 817,084 913,004 295,920
2 28,851
== 10,200
Al 778,033
PUHBHY 2sAF XS 273,320 337,320 AB4,000
202 sS4 7,320 7,320 0
201 Yet2YH| 4,820 4,820 0
01 AP Zelbl 1,820 1,820 0
OXNYgRA2S 3o&A 2 70,0002 *6H *x23] 840
Ol &AM RAG Fo&A &
70,000& x7H *23| 980
03 AR HH| 3,000 3,000 0
O=2s0=stiAl 22 2 X S 3,000,000 3,000
202 044l 2,000 2,000 0
01 20| 2,000 2,000 0
O3 t=atAl =8 L U228 S
2,000,000 2,000
301 2EtEAZ 500 500 0
10 SALAIHI B A2 500 500 0
O23t0=2tad o12tol S#sX& 500, 000< 500
HEWEE%20| 2s=H XN 20,000 24,000 24,000
307 GI2t0IH 20,000 24,000 24,000
04 QIZFSHALE X 20,000 24,000 24,000
Ox=0l OISEM(S X¥) 20,000,000 20,000
EHSo5 WX 18,000 20,000 A2,000
307 QI2t0IA 18,000 20,000 A2,000
04 QI2tSHAIE X 18,000 20,000 A2,000
02010 sEsS23 HEXH 18,000,000 18,000
220 21 ¢ WX 11,000 26,000 A 15,000
307 QI2t0IA 11,000 26,000 A 15,000
04 QIZFSHALE X 11,000 26,000 A 15,000
OsdIZXNE 2+3H HEXA
11,000,000 11,000
AQA HESSHH NEXIH 110,000 110,000 0




2A: 2SS
A 2iese L IS
ol PUIY SEBA X ciol Hgl
B el (3) - HA= Aol e =2
307 2120 110,000 110,000 0
04 QIZHHALE X 110,000 110,000 0
OHRI2 A4 FRI OH I XI&
110,000, 000& 110,000
S HIAEIY JHEIX 100,000 100,000 0
307 2I2t0|™ 100,000 100,000 0
04 CIZ2tHAIE X 100,000 100,000 0
OHl =548 ¢ Dl ESDNE]
100,000, 000& 100,000
QMDA o4d Nz K& 7,000 10,000 A3,000
307 212t0 7,000 10,000 A 3,000
04 CIZFHAE X 7,000 10,000 A 3,000
0201 AT B =9 HEXA
7,000,000 7,000
Ng=28tti=s s48X 346,020 359,760 A13,740
= 28,851
= 10,200
Al 306,969
ggact 24 2 XA 129,440 129,180 260
201 LBt 3| 1,000 1,000 0
01 AR 22| 1,000 1,000 0
OANEti=x MEAJ A=Y
100, 0002 x5 »23| 1,000
301 et24a = 128,440 128,180 260
11 dlsta - 2s2sSE243 128,440 128,180 260
Ogads 243 106,560, 000& 106,560
oHsE #g 2 =4 300,000& *10H *12] 3,000
O&IIH=3 &l 6,000,000 12| 6,000
Q&EIId=F3 243 8,880,000 8,880
O 0tote A3 2| 2,000,000& 23| 4,000
ANEoIgE=E 23 £ XA 71,580 73,580 A2,000
301 et24a= 71,580 73,580 A2,000
11ttt - 2s2sSE243 71,580 73,580 A2,000
Ogads 243 49,920,000& 49,920
o= 72 2 =4 300,000& 15 12| 4,500
O&IIH=3 &l 6,000,000 12| 6,000
Q&EIIdF3 243 4,160,000& 4,160
O 0tite A3 2| 2,000,000& 23| 4,000
(@Il 3,000,000& 3,000
S+ dE S BEEAMY 18,000 12,000 6,000
& 5,400




2H: 2SS
Ha: 230&S8 L AE
ol IA2sile FEX (S5l &2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 il b o HRs2
A 12,600
307 QI2H0IH 18,000 12,000 6,000
= 5,400
Al 12,600
TEEREES 18,000 12,000 6,000
OR+HE UELPEAY 18,000,0002 18,000
= 5,400
Al 2,600
2T OLOFEOf 2R A IIXI R 6,000 6,000 0
= 1,800
Al 4,200
307 QI2H0|H 6,000 6,000 0
= 1,800
Al 4,200
03 ABIEHHIEE2 6,000 6,000 0
ORI203] 2IIE OIOIE0 2R X
6,000,000 6,000
= 1,800
Al 4,200
Ngesd s4 75,000 75,000 0
= 25,000
Al 50,000
307 Q1201 75,000 75,000 0
= 25,000
Al 50,000
02 DINBASE 15,000 15,000 0
OXNgesa 29y N 15,000,0002 15,000
03 ABIEHHIEZE2 60,000 60,000 0
OSSR ALBE(TOILASR)
60,000, 0002 60,000
= 25,000
Al 35,000
2I|E BAE USOIEH BIIKE 10,000 0 10,000
= 3,000
Al 7,000
307 Q1201 10,000 0 10,000
= 3,000
Al 7,000
03 ABIEHRIEZ2 10,000 0 10,000
ORm8s 2IIE HAE ASOISH EIIX
10,000, 0002 10,000
= 3,000
Al 7,000
23stn 29 6,000 6,000 0
= 3,851
Al 2,149
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SN 2K
HE: 2s0ss8 L WE
Sl LHAYE BER 2Y (9l & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o HRs2
03 A2 EH| 7,000 4,000 3,000
ootEAsE 29 3,000,000& 3,000
OJI=E KNz 4,000,0002! 4,000
202 O4Hl 1,500 1,500 0
01 =Yl 1,500 1,500 0
OHIXI0Z ¥ RSIA 1,500,000& 1,500
301 YLErEaa 18,600 21,600 A3,000
12 JIEtE2 4= 18,600 21,600 23,000
OFSNISAL B4 30,0003 x4 155 18,600
gz AldEs 47,400 80,800 A 33,400
206 M=l 7,400 7,400 0
01 M=l 7,400 7,400 0
OZZE %#E2 L HIERY 2,500,008 2,500
O&AlA & OFAXMAE 2 2 2,500,000 2,500
OLCDEZEEYH HEZ 2 600,000 *4H 2,400
401 AlZBIL 2] 25,000 50,000 25,000
01 Al&H| 25,000 50,000 A25,000
OS2 T4 HFA NSEUL &X
5,000, 000& 5,000
OSd=R23 dARA X 20,000,000& 20,000
405 THAHE S 15,000 23,400 8,400
01 T =SS H SHI 15,000 23,400 28,400
OS2 JHFAS SIS 2L
5,000, 000& =14 5,000
Oglga dutdy g 5,000,000& *2CH 10,000
AFE AU FHT 8,150 8,150 0
SUNUS +H L HDI 8,150 8,150 0
201 Yot | 8,150 8,150 0
01 AtE22/Hl 8,150 8,150 0
Og=He= HMaldl= 8,150,000& 8,150
Falg=s € 2= 972,900 192,900 780,000
= 525,000
& 112,500
B Al 335,400
23 S22 & 29 784,700 129,700 655,000
= 525,000
= 112,500
Al 147,200
SERH el 34,700 25,700 9,000
201 Let2g| 700 700 0




SN 25HS D
HH: 2L U PE
ool 2T fNzY Y 2Y (9l @2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
01 AL 22l 700 700 0
OHESANSEARSE sloas+Y
70,0008 ¥52 23| 700
401 AIZHIL 2O 34,000 15,000 9,000
01 Al 34,000 15,000 9,000
OBERN 22l L FHI(1144)
10,000,000%! 10,000
OMBE HETA 24,000,000%! 24,000
SHWELTU (HHLSLHHEZA 750,000 0 750,000
2 525,000
= 112,500
Al 112,500
402 PI2EXHZO|H 750,000 0 750,000
2 525,000
= 112,500
Al 112,500
01 DI2T=EE 750,000 0 750,000
ORMAELT HEBM 750,000,000%! 750,000
2 525,000
= 112,500
Al 112,500
SNy ¥2 L JI= 175,000 50,000 125,000
SCHANER 175,000 50,000 125,000
402 ©I2EXHZO|H 175,000 50,000 125,000
01 QIR ERE 175,000 50,000 25,000
OSSHAA 22t 14 175,000,002 175,000
S5 HEES X 13,200 13,200 0
SEUALe BEES X 13,200 13,200 0
307 212+0] 13,200 13,200 0
02 PIYMBE 3,200 13,200 0
OANXIE LSS MSAY 13,200,008 13,200
BYNY TE 754,677 386,805 367,672
z 200,000
= 60,000
_ Al 494,677
LR8 BB 29 81,677 229,805 £48,128
LQMBT XL 69,677 215,805 £46,128
101 2124l 11,557 8,885 2,672
04 JIAH2ENSE4 11,557 8,885 2,672
OAQUZT BFHY FIR22IARY
33,4002 +42 x40 5,344
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k= DS E=
BRAY XS
NS CRASE ST NP k= EH)
SA - M. CHY (B HEAY . N2 S =2
& 200,000
& 60,000
Al 140,000
QA2 X JNE AL 400,000 0 400,000
= 200,000
= 60,000
Al 140,000
401 A &HIYL 2048 400,000 0 400,000
= 200,000
& 60,000
Al 140,000
01 Al&HI 397,120 0 397,120
OLa202 X M 397,120,000& 397,120
& 198,560
& 59,568
Al 138,992
03 Al 20| 2,880 0 2,880
OLat202 X M 2,880,000& 2,880
= 1,440
& 432
Al 1,008
22Z=EE HRFA 173,000 157,000 16,000
228 2e| 173,000 107,000 66,000
201 LBt 3| 164,000 98,000 66,000
01 AFR 22| 164,000 98,000 66,000
OZtZotUHXN T HMZ 700& *30,000% 21,000
O2-ZOHLH ZH AL 2,000& x15,000% 30,000
OZZEBS(AH s) M=
3,000,000& 3,000
OoaBsEE & 10,000, 000& 10,000
O=20x o2 =M E2(gA01&2et
s) 70,000,000& 70,000
odlcazys
30,000,000& 30,000
202 O4Hl 2,000 2,000 0
01 =LA b 2,000 2,000 0
O2ZHEFN L Nz+H 2,000,000& 2,000
203 HRF&H| 7,000 7,000 0
03 AIBMFXAHR =&Y 7,000 7,000 0
OFSMSY ABFHNALFE 7,000,000 7,000
Msay 54 1,288,480 1,135,088 153,392
& 60,000
J| 70,140
= 161,043
Al 997,297




A
I‘IiH:
C}—Ol:

S M=
s 54
HEAE =4

_ _ _ Muo
SNBSS - MEAY - BES 01l &k o e HlnE2
AL =24 341,000 40,000 301,000
= 60,000
& 70,000
Al 211,000
HM=AE Zl 141,000 40,000 101,000
401 A &HIL 2048 141,000 40,000 101,000
01 Al&H| 141,000 40,000 101,000
OX=EAMLE EX € BE= 60,000, 000& 60,000
OACIEEE & =RF TI(AZEC, R E)
81,000, 000& 81,000
MEETEANLXA 200,000 0 200,000
= 60,000
& 70,000
Al 70,000
401 AIEHIZ 2 200,000 0 200,000
= 60,000
L= 70,000
Al 70,000
01 Al&H| 198,560 0 198,560
O AU MENSAIE T4 198,560,000& 198,560
= 59,568
& 69,496
Al 69,496
03 Al R0 1,440 0 1,440
OoAAMENSAE T4 1,440,000& 1,440
= 432
= 504
Al 504
M=z XA 292,500 435,000 A 142,500
Mtz 8K 165,500 308,000 A 142,500
202 (4 HI 2,000 1,000 1,000
01 =Wl 2,000 1,000 1,000
OXM=sg8A E &8 WAL A
2,000,000 2,000
307 gI2told 163,500 307,000 A 143,500
02 QIZtAAMEX 115,500 121,000 25,500
Ostg s 2 S0 sdEX
4,000,000 4,000
OHM9tel SHME sMEX(M=E3)
2,000,000& 2,000
OHM21g BIIE MENSUHEN S (MEMS
al) 69,000,000& 69,000
OIIE U WT MENS S22 SN (MEH
=3) 27,000,000 27,000




SN

X ZH
o=

ok

S M=
CHsMY |4
H=al X

S . "M . O (5 HEAY . N2 Al OH HEE Hl =2+
O&IIT Zofel A HEX(MET=3
) 9,000,000& 9,000
OFe 5= Zs SHEX
(MEN=3 4,500,000& 4,500
04 CIZFHAE X 48,000 186,000 A 138,000
OWWCA M= OElol sEUsl(X=3l)
12,000, 000& 12,000
08.15 Z=)|d =208 MzE2X(H=KF)
4,000,000 4,000
OAZEI| MEHSUS HE SR(MEHSS)
30,000,000 30,000
OMI133 AlZH S Hal(M=3l)
2,000,000& 2,000
SXADI HEta = 72,000 72,000 0
307 QI2tol™ 72,000 72,000 0
02 QI2ZtBAE X 72,000 72,000 0
O&EXA =X 72,000,000 72,000
ANEH M ASTGEAE 2 X 55,000 55,000 0
307 QI2t01™ 55,000 55,000 0
04 QUZFHAE X 55,000 55,000 0
OAIEH A EAUE OHE
55,000, 000& 55,000
NE2SEIIR 22 300,000 300,000 0
& 70,000
Al 230,000
NZEE 2308 300,000 300,000 0
& 70,000
Al 230,000
301 LES A 300,000 300,000 0
& 70,000
Al 230,000
11 dlsH2 -2 300,000 300,000 0
ONZEHEZ2S 2)
300,000, 000& 300,000
& 70,000
Al 230,000
MEsEldssd 354,980 360,088 25,108
| 70,140
& 21,043
Al 263,797
MEt=sgls 29 86,100 75,900 10,200
201 €er2d 9,100 5,900 3,200
01 AR 4,400 3,400 1,000
OMs&dEE2s 1,400,000& 1,400




SA: 2SS
Ha: HSNY 54
Celr MEHSEOINSH U MEHS GEEREED
_ _ HE T
SA BB H(BH) - MBAY - B2 Of) & o il i~ o HRs2
OXMSH#A 222 HME L 28|
3,000,00024 3,000
02 ZZ2YHl 4,700 2,500 2,200
OBBIY S| 3,500,0002 3,500
OBISRIEIERE WatpelXt +48
1,200,000 1,200
307 212H0I 77,000 70,000 7,000
02 QIHHARE 77,000 70,000 7,000
OA.Z MEHS3 SEX2 50,000,002 50,000
OR+HE SHANA(MSs]) 27,000,000 27,000
MEANSDY ML 15,000 15,132 A132
307 212+0| & 15,000 15,132 132
04 DIZFHAIEE 15,000 15,132 A132
OMBHSDA A82H(15HES)
15,000, 0002 15,000
Neics) MBS WX 92,340 92,340 0
| 46,170
= 13,851
Al 32,319
307 212H0I 92,340 92,340 0
| 46,170
= 3,851
Al 32,319
04 BIZFBAIE X 92,340 92,340 0
OXACHs| MBS XX HhX
92,340,000 92,340
| 46,170
= 13,851
Al 32,319
Ol2AFE XS HIX| 36,936 36,936 0
| 18,468
& 5,541
Al 12,927
307 212H0I 36,936 36,936 0
| 18,468
= 5,541
Al 12,927
04 BIZFSAIS X 36,936 36,936 0
OO24FEY MBS NEX BHX
36,936,000 36,936
| 18,468
& 5,541
Al 12,927
MEHS NENSY 9,600 9,600 0
301 YA 9,600 9,600 0
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k= DS E=
s 4
MBHSHOIZRE L MEHSK D CERE
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
12 JIEtE2 43 9,600 9,600 0
olozel ZA=+=< 400,0003 x18+12& 4,800
Of=HMd=s N 400,000& x1E*12& 4,800
AIEHE SEdEX 94,000 104,000 A 10,000
307 gI2told 94,000 104,000 A 10,000
04 CIZFHAE X 94,000 104,000 A 10,000
OHM563 BIEHAE EMEX(M=3E])
90,000, 000& 90,000
OZJIE H2WMEHsHa EdEx
4,000,000& 4,000
HSEIRH AHAS 11,004 8,612 2,392
| 5,502
& 1,651
Al 3,851
301 LEEAZ 11,004 8,612 2,392
| 5,502
= 1,651
Al 3,851
12 J|EtE &= 11,004 8,612 2,392
OMSHISH™ AYEA 11,004,000& 11,004
| 5,502
= 1,651
Al 3,851
AITHEMSUHI HEEX 10,000 0 10,000
307 gI2told 10,000 0 10,000
04 CIZFHAE X 10,000 0 10,000
02010 ZIIS At MEX= A0S =
10,000,000& 10,000
HY 2L LU (2Ms) 47,880 48,060 A 180
IA2HEHI (23 =) 4,200 4,200 0
SEAMIAHI (23 M =D 4,200 4,200 0
203 HRF&Y| 4,200 4,200 0
04 BEASIHRFEHI 4,200 4,200 0
ORMSZLRE=EHI(302!0]5t)
350,000& x12& 4,200
Jl2Zbl (2 =) 43,680 43,860 A 180
Jl2Zbl(2 =) 43,680 43,860 A180
201 et 12,960 15,300 A2,340
01 AtS2t2ldl 12,960 15,300 A2,340
OFAN2Z AR 22 12,960, 000& 12,960
202 044l 30,720 28,560 2,160
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2AM: S
A HH2IFGUI (2SS H)
©2: Jl2dul(23 s
SN ZB - SR(BH) - NRAY - BES 01l &k o g
- cSH I T2 ° TNE 2SS = a&r = 04| AFOH
01 =LHA b 30,720 28,560
OJlegaa0il(16Y) 30,720,000& 30,720
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